
SAP ABAP table VTCOM {Communications Work Area for Cust.Master Accesses}

VTCOM

ALAND [CHAR (3)]

BANKS [CHAR (3)]

BUKRS [CHAR (4)]

GSBER [CHAR (4)]

KKBER [CHAR (4)]

KTOKD [CHAR (4)]

KUNNR [CHAR (10)]

LIFNR [CHAR (10)]

LLAND [CHAR (3)]

MABER [CHAR (2)]

MANDT [CLNT (3)]

MATNR [CHAR (18)]

PARVW [CHAR (2)]

SHBKZ [CHAR (1)]

SPART [CHAR (2)]

SPRAS [LANG (1)]

VKORG [CHAR (4)]

VSTEL [CHAR (4)]

VTWEG [CHAR (2)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

VKGRP [CHAR (3)]

NRART [CHAR (2)]

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 VTCOM-KUNNR = KNA1-KUNNR 
0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 VTCOM-LIFNR = LFA1-LIFNR 
0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

 VTCOM-MATNR = MARA-MATNR 
0..N

0..N

T000

MANDT [CLNT (3)]

 VTCOM-MANDT = T000-MANDT 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 VTCOM-BUKRS = T001-BUKRS 
0..N

0..N

T002

SPRAS [LANG (1)]

 VTCOM-SPRAS = T002-SPRAS 
0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 VTCOM-ALAND = T005-LAND1 

0..N

0..N

 VTCOM-BANKS = T005-LAND1 0..N

0..N
 VTCOM-LLAND = T005-LAND1 

0..N

0..N

T014

MANDT [CLNT (3)]

KKBER [CHAR (4)] VTCOM-KKBER = T014-KKBER 0..N

0..N

T047M

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

MABER [CHAR (2)]
 VTCOM-MABER = T047M-MABER 0..N

0..N

T074U

MANDT [CLNT (3)]

KOART [CHAR (1)]

UMSKZ [CHAR (1)]

 VTCOM-SHBKZ = T074U-UMSKZ 
0..N0..N

T077D

MANDT [CLNT (3)]

KTOKD [CHAR (4)]

 VTCOM-KTOKD = T077D-KTOKD 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 VTCOM-GSBER = TGSB-GSBER 

0..N

0..N

TPAR

MANDT [CLNT (3)]

PARVW [CHAR (2)]

 VTCOM-PARVW = TPAR-PARVW 

0..N

0..N

TSPA

MANDT [CLNT (3)]

SPART [CHAR (2)]

 VTCOM-SPART = TSPA-SPART 

0..N

0..N

TVKGR

MANDT [CLNT (3)]

VKGRP [CHAR (3)]

 VTCOM-VKGRP = TVKGR-VKGRP 

0..N

0..N

TVKO

MANDT [CLNT (3)]

VKORG [CHAR (4)]

 VTCOM-VKORG = TVKO-VKORG 

0..N

0..N

TVPA

MANDT [CLNT (3)]

NRART [CHAR (2)]

 VTCOM-NRART = TVPA-NRART 

0..N

0..N

TVST

MANDT [CLNT (3)]

VSTEL [CHAR (4)]

 VTCOM-VSTEL = TVST-VSTEL 

0..N

0..N

TVTW

MANDT [CLNT (3)]

VTWEG [CHAR (2)]

 VTCOM-VTWEG = TVTW-VTWEG 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 VTCOM-VBELN = VBUK-VBELN 

0..N

0..N

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 VTCOM-POSNR = VBUP-POSNR 

0..N

0..N


